

Home Search Collections Journals About Contact us My IOPscience

An interesting relation involving 3-j symbols

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1975 J. Phys. A: Math. Gen. 8 L77

(http://iopscience.iop.org/0305-4470/8/8/001)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.88 The article was downloaded on 02/06/2010 at 05:09

Please note that terms and conditions apply.

LETTER TO THE EDITOR

An interesting relation involving 3-j symbols

John D Morgan III

Theoretical Chemistry Department, University of Oxford, 1 South Parks Road, Oxford OX1 3TG, UK

Received 4 June 1975

Abstract. A simple 'pseudo-orthogonality' relation which was encountered in investigating the exact solutions of the helium atom problem is proved. Another set of more complicated summations was obtained but their vanishing has not yet been verified. It is suggested that these relations may arise from some symmetry peculiar to the helium atom.

In the course of investigating recursion relations for the exact solution of the nonrelativistic helium atom problem, the following quantity was encountered:

$$S_{l} = \sum_{l'=0}^{l} \frac{1}{2l'-1} {l \choose l} \left(\begin{array}{ccc} l & l' & l-l' \\ 0 & 0 & 0 \end{array} \right)^{2} = \sum_{l'=0}^{l} \frac{1}{2l-2l'-1} {l \choose l} \left(\begin{array}{ccc} l & l' & l-l' \\ 0 & 0 & 0 \end{array} \right)^{2}.$$
(1)

This sum is -1 for l = 0 and 0 for l = 1. We shall now show by induction that it vanishes for any $l \ge 1$.

Lemma

If $S_l = 0$ for a particular l, then $S_{l,J} = 0$ as well, where

$$S_{l,J} = \sum_{l'=0}^{l} \frac{1}{2l'-1} \begin{pmatrix} l & l'+J & l-l'+J \\ 0 & 0 & 0 \end{pmatrix}^2 = \sum_{l'=0}^{l} \frac{1}{2l-2l'-1} \begin{pmatrix} l & l'+J & l-l'+J \\ 0 & 0 & 0 \end{pmatrix}^2.$$
(2)

The proof is trivial since

$$\begin{pmatrix} l & l'+J & l-l'+J \\ 0 & 0 & 0 \end{pmatrix}^2 = \begin{pmatrix} l+J \\ J \end{pmatrix}^2 \begin{pmatrix} 2l+2J+1 \\ 2J \end{pmatrix}^{-1} \begin{pmatrix} l & l' & l-l' \\ 0 & 0 & 0 \end{pmatrix}^2.$$
(3)

We know that $S_l = 0$ for l = 1. Now assume that $S_l = 0$ and examine

$$S_{l+1} = \sum_{l'=0}^{l+1} \frac{1}{2l'-1} {l+1 \quad l' \quad l+1-l' \choose 0 \quad 0 \quad 0}^2$$

= $\frac{1}{(2l+1)(2l+3)} + \sum_{l'=0}^{l} \frac{1}{2l'-1} {l+1 \quad l' \quad l+1-l' \choose 0 \quad 0 \quad 0}^2.$ (4)

It is readily verified (Landau and Lifshitz 1965) that

$$\binom{l+1}{0} \binom{l-l'+1}{0}^{2} = \frac{2l-2l'+1}{l-l'+1} \binom{l}{0} \binom{l'+1}{0} \binom{l-l'+1}{0}^{2},$$
(5)

L77

so

$$S_{l+1} = \frac{1}{(2l+1)(2l+3)} + \sum_{l'=0}^{l} \frac{2l-2l'+1}{(2l'-1)(l-l'+1)} \binom{l}{0} \binom{l'+1}{0} \binom{l-l'+1}{l-l'+1}^{2} = \frac{1}{(2l+1)(2l+3)} + \sum_{l'=0}^{l} \frac{2l'+1}{(2l-2l'-1)(l'+1)} \binom{l'+1}{0} \binom{l'+1}{$$

We next separate the l' = 0 term from the rest in (4).

$$S_{l+1} = -\frac{1}{2l+3} + \sum_{l'=1}^{l+1} \frac{1}{2l'-1} \binom{l+1}{0} \binom{l+1}{0} \binom{l+1-l'}{0}^{2}$$
$$= -\frac{1}{2l+3} + \sum_{l'=0}^{l} \frac{1}{2l'+1} \binom{l+1}{0} \binom{l+1-l'-l}{0}^{2}$$
$$= -\frac{1}{2l+3} + \sum_{l'=0}^{l} \frac{1}{2l-2l'+1} \binom{l+1-l'-l-l'+1}{0}^{2}.$$
(7)

Using (5),

$$S_{l+1} = -\frac{1}{2l+3} + \sum_{l'=0}^{l} \frac{1}{l-l'+1} \begin{pmatrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{pmatrix}^2$$
$$= -\frac{1}{2l+3} + \sum_{l'=0}^{l} \frac{1}{l'+1} \begin{pmatrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{pmatrix}^2.$$
(8)

We then subtract (6) from (8) to obtain

$$0 = -\frac{1}{2l+3} \left(1 + \frac{1}{2l+1} \right) + \sum_{l'=0}^{l} \frac{1}{l'+1} \left(1 - \frac{2l'+1}{2l-2l'-1} \right) \left(\begin{matrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{matrix} \right)^{2} \\ = -\frac{2(l+1)}{(2l+1)(2l+3)} + 2\sum_{l'=0}^{l} \frac{(l+1)-2(l'+1)}{(l'+1)(2l-2l'-1)} \left(\begin{matrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{matrix} \right)^{2}.$$
(9)

We note that the latter part of the sum vanishes because of the induction hypothesis and our lemma, so

$$\frac{1}{(2l+1)(2l+3)} = \sum_{l'=0}^{l} \frac{1}{(l'+1)(2l-2l'-1)} {l \choose l'+1} {l-l'+1 \choose l-l'+1}^2.$$
(10)

We now add $0 = 2 \cdot S_{l,1}$ to the right-hand side of (8) to obtain

$$S_{l+1} = -\frac{1}{2l+3} + \sum_{l'=0}^{l} \left(\frac{1}{l'+1} + \frac{2}{2l-2l'-1} \right) \left(\begin{pmatrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{pmatrix}^2 \\ = -\frac{1}{2l+3} + \sum_{l'=0}^{l} \frac{2l+1}{(l'+1)(2l-2l'-1)} \left(\begin{pmatrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{pmatrix}^2 = 0$$
(11)

because of (10). Thus $S_l = 0$ for any $l \ge 1$, and from the lemma, $S_{l,J} = -(2J+1)^{-1}\delta_{l0}$, and therefore other identities are readily obtained from (4) and (6)–(8).

Neither this sum nor any similar expression nor indeed anything which pertains to these quantities could be found in any of the standard references on angular momentum theory (Biedenharn and van Dam 1965, Brink and Satchler 1971, Englefield 1972,

Yutsis et al 1962). Of course, any identity involving integral quantities can be written in terms of 3-*j* symbols, but it does not necessarily follow that such an equality is most easily or even can be proved by examining the symmetries of the full rotation group. In fact, these sums were generated by solving for the first few lowest coefficients of the power series expansions for the radial functions corresponding to helium S states, and it was necessary to demand that the radial functions satisfy Schrödinger's equation and have continuous derivatives with respect to the radial coordinates except at Coulomb singular points in order to find these coefficients. Also, if the r_{12}^{-1} potential were replaced with a different potential (eg one which vanished everywhere), these sums would not have been obtained, so it would not be surprising if this 'pseudo-orthogonality' relation was generated by some symmetry peculiar to the helium atom with Coulomb interelectronic repulsion.

Another set of considerably more complicated summations has been obtained by similar means:

$$\bar{S}_{l} = \sum_{l'=0}^{l} \frac{1}{2l'+3} \begin{pmatrix} l & l' & l-l' \\ 0 & 0 & 0 \end{pmatrix}^{2} - \sum_{l'=0}^{l} \frac{1}{2l'+1} \begin{pmatrix} l & l'+1 & l-l'+1 \\ 0 & 0 & 0 \end{pmatrix}^{2}.$$
 (12)

The \bar{S}_l vanish for l = 0, 1, 2, 3, 4, so one is tempted, especially in light of the previous result, to conjecture that these sums vanish for any natural number l. Unfortunately a proof has not yet been obtained because of the greatly increased number of equivalent forms of these quantities which apparently need to be used in verifying this conjecture.

We note that the S_l and \overline{S}_l vanish if l is half-integral since the 3-j symbols then vanish identically.

In conclusion, an exact treatment of the helium atom problem appears to be considerably more fruitful and interesting than has been imagined previously.

It is a pleasure to acknowledge the advice I have received on this problem from I P Grant and A J O'Connor and the encouragement of N C Pyper. I am grateful to the Marshall Aid Commemoration Commission for awarding me a scholarship, which has made my study at Oxford possible. Finally, I can only begin to express my gratitude to G B Shaw and to D B Abraham for their interest and encouragement in what was and is an extremely speculative project.

References

Biedenharn L C and van Dam H 1965 Quantum Theory of Angular Momentum (London: Academic Press) Brink D M and Satchler G R 1971 Angular Momentum (London: Oxford University Press)

Englefield M J 1972 Group Theory and the Coulomb Problem (London: Wiley-Interscience)

- Landau L D and Lifshitz E M 1965 Quantum Mechanics (Non-relativistic Theory) (Oxford: Pergamon Press) p 406
- Yutsis A P, Levinson I B and Vanagas V V 1962 Mathematical Apparatus of the Theory of Angular Momentum (Jerusalem: Israel Program for Scientific Translations)